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Sr Questions Answers Choice

1 If 1 is the zero of polynomial, then remainder is:
A. 3
B. 2
C. 0
D. 1

2 Synthetic division is simply a short cut of:
A. H.C.F
B. L.C.M
C. Long division method
D. Factorization

3 7-7h = 0, then h = :
A. 7
B. 1
C. 0
D. 49

4 Question Image
A. 2
B. 6
D. 5

5 Question Image

6 Question Image

7 Question Image

8 Question Image
A. One variable
B. Twovariable
C. Threevariable
D. Fourvariable

9 Question Image

10 Question Image B. bc

11 Question Image
A. 9
B. 7
C. 5
D. 3

12 Question Image
A. 5
B. 18
C. 15
D. 23

13 The product of roots, of equation 5x2+(7-2m) x + 3 = 0 will be:

14 Product of the roots of the equation 3x2-5x+7=0:
A. 3<sup>7</sup>
B. 7<sup>3</sup>

15 Sum of the roots of the equation 3x2-5x+7=0:
B. 5+3
D. 5<sup>3</sup>


